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m = 0.1 lambda = 0.0025 NX = 256 nModes = nMods

T�m= 0.997589 Time = 134580. * 1�m mHTL�m = 0.29033 , Lm = 25.6 , mdHt L�m = 0.430157

nTot = 3.88335 , Etot �Lm2 = 0.202103 H input = 0.201103 L, v2 = 2. , BE-Diff = 1.79862
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N=256, Lm=32, a0/a=0.1, m2/λ=12, v2=6

Fit: T/m=1.08
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m = 0.0565685 lambda = 0.000266667 NX = 20 nModes = 0

T�m= 10.9146 Time = 4.43554 ´ 106 * 1�m
mHTL�m = 0.864283 , Lm = 1.13137 , mdHt L�m = Indeterminate

nTot = 1.32782 , Etot �Lm2 = 18.4268 H input = 36.2042 L, v2 = 5.99999 , BE-Diff = 1.33085
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Time dependence of nHΩL
am = 0.0447214 , Lm = 5.72433 , v2 = 6, N = 128

At times : tm = 848, 91, 305, 563, 821<




